Third Semester B.A. LL.B. Five Year Examination, January 2012
ECONOMICS - Il (Course - lll)

Time : 3 Hours Max. Marks : 100
Instructions : 1. Answer all 5 questions.
2. Figures to the right indicate marks.

3. Answer should be written either in English or Kannada
completely.

UNIT -1

Q.No. 1. (a) What are the factors responsible for the economic backwardness
of India ? Marks : 15

LTI BRFTeoN 0TOPOILD FTTLANLEID ?
OR/&5

What are the characteristics of Indian Economy ?
IPT3T @@’r%dﬂ@ojo @ﬁ;@ﬁe}o o3 ?

(b) Write short noteson : Marks : 5
OO &3TES WD,

a) Economic development.

SROFT @@%@5
OR/&5

b) Poverty.

WESI.

P.T.O.
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Q.No. 2. (a)

UNIT -1l

Explain the growth and problems of trade union movement in
India.

QRTBTE) FoROFT ROFT LRI 33023 ﬁdo@ﬁ@@{ QWOR.
OR/&5se

Define trade union. Give your suggestions to improve it.

T8 ROPLSOID 599,89, R0, T3 WG 7 e BOTRED 930 ?

(b) Write short notes on :

Q.No. 3. (a)

£33 WBAWO.

H.M.S. & B.M.S.

8o0T3R TORRTO AL 08 LB WWRT FoF
OR/&@w

CITU & U.T.U.C.

NOT® 57 QORCPDT &er ORAVOT =Y cd0F T & e
ORRACT® FOOME".

UNIT -1l

Explain the need for planning in India.

RRUBTS SRFF 03RO @rﬁ%d&q QORD.
OR/&50

Explain the Achievements and failures of five year plans.

TOLITOAE B O3REIENG FT 03 Qfg}ﬁ%ﬁ@d& QTOO.
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(b) Write short notes on :
OO £5TFS LTO0.

National Development Council (NDC).

To8y,60% @&p%@@ T0TS.
OR/&g@w

Functions of Planning Commission.

O3REWTD SO3RENT TN
UNIT - IV
Q.No. 4. (a) Explain the various sources of agricultural credit in India. Marks : 15

TSR, FAAOT DT m@mfs% DTO0.
OR/&5

What are the factors contributed to the green revolution in India ?
What are its advantages and defects ?

P0BEE) BATO T,087 BHCLTT 03N CARR)R) ? VT3 2920
=02 medﬁ%ﬂ’d}%&dé%&

(b) Write short noteson : Marks : 5
OO £533F3 2TOD.

Social causes for low productivity.

B0 emaadééﬁ TOTIL3B FOTLINLO.
OR/e5se

Natural causes for low productivity.

BT m@ggﬁé@ﬁ %xﬁﬂ;é FOTEINGD.

wrenss StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

0323 -4-

UNIT-V

Q.No. 5. (a) What are the different steps taken by the Government to solve
the problems of small scale industries. Marks : 15

z)’s% EIARIeLR Feom Y ﬂdoﬂémfd}% WNBOROD RATTOTay) %ﬁfaozé AW
TORF BFONTRD OO

OR/&5se
What is the importance of small industries ?
263 3MOOBNS ROTZ,330 WICWD.
0y =1

(b) Write short notes on: Marks : 5

w;@ 230200.

Iron and steel Industry.

éag)sa 303 mgp 0.
OR/e5se

Main features of New Economic Policy.

SRS SRS VS0 B0 BN,
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